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QUESTION 1

What are the three setup steps required to implement the Lockbox feature? (Choose three.) 

A. Receipt Classes and Receipt Methods 

B. late charges 

C. Lockbox and Lockbox Transmission Formats 

D. Receipt Sources 

E. credit card refunds 

Correct Answer: ACD 

 

QUESTION 2

When you move revenue on an invoice line from an unearned account to an earned revenue account, Receivables
______________. 

A. removes the invoice line revenue contingencies 

B. leaves the invoice line revenue contingencies until Automatic Revenue Recognition is run 

C. removes the pending sales credits 

D. leaves the invoice line revenue contingencies until Reconcile Revenue Contingencies is run 

Correct Answer: A 

 

QUESTION 3

You are the Billing Manager and you are responsible for reviewing adjustments and approving them. 

Which two tabs are available in the Adjustments Overview Region on the Billing Work Area page? (Choose two.) 

A. Pending My Research 

B. Pending Approval From Managers 

C. Pending Approval 

D. Pending My Approval 

E. Approved 

Correct Answer: AD 
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QUESTION 4

Which two statements are true about processing Receivables adjustments that impact tax amounts? 

A. Receivables can look at invoice and retrieve the tax rate code. 

B. There is no need to retrieve the tax rate code. 

C. Receivables can look at the adjustment activity and retrieve the tax rate code. 

D. Receivables can look at System Options and retrieve the tax rate code. 

Correct Answer: AD 

 

QUESTION 5

Which three transaction types are used to generate late charges? (Choose three.) 

A. CashReceipts 

B. Adjustments against the original transaction 

C. Credit Memo 

D. Debit Memo 

E. Interest Invoice 

Correct Answer: BCE 
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